Most new cars nowadays don't come with a spare wheel
so you have to pay extra if you want one .......
£68 for a metal wheel and £73 for a tyre.

How much does that come to ?

A tree has 235 leaves on it.
On each leaf there are 3 ladybirds.

How many ladybirds in total are there
on the tree ?

| To fly with Thomas Crook to Gran Canaria costs £412 return.

Flying with Jet3 costs £289 return. ‘ \
By how much is Jet3 cheaper ? o /

A hotel bought 10 new single beds for the
rooms on the top floor, costing £2470 in
total.

What was the cost of each bed ?

. A mechanic puts 4 litres of oil into all the cars he services.

If he serviced 38 cars last month, how much oil did he use ?

A janitor lays out chairs in rows of five.

'  Tf he puts out 80 chairs, how many rows
will there be ?

- There are 60 lollies in this jar.
There are 4 jars of them on display in each of 2 supermarkets. @ ioies
| average
contents 60

How many lollies in total are up for sale ? SESEEe

Moira pays fees of £285 for gym membership.
She is also in a bowling club, costing £198.

How much does she pay in total ?
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